Graph the following equations in your graphing calculator. Explain how the graph changes from
the y = |x| graph to the new graph.

a. y=|x+5| b. v=|x+ 2| c. V=|x—6] d. y=|x— 3
e. y=|x|+5 £y =|x|+2 g. v=|x|—6 h. y = |x| -3
i v=2|x]| j- }-'=%|x| k. v =—|x|

Loy =lx+4]—2 m y=|x—3+6 n. y=Ir-3 —10
o. y=2x|+4 p. y=-3|x+2|-1 a. y==|x|-3

Graph the following equations in your graphing calculator. Explain how the graph changes from
the y = |x| graph to the new graph.

a. y=|x+5| b. v =|x+ 2] c. vV=|x—6| d. y=|x—3]
e. V=|x|+5 f.v=|x|+2 g. v=|x]—6 h. v=|x| -3
iy =2[x| oy =zl k. y=—lx]

L v=|x+4-2 m y=|x—3+6 n. y=|r—3 —-10
o. y=2|x|+4 p. y=—3x+2]—1 0. y==|x| -3



